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2�2 �	������ ����� �� ���
��	��� ���	����� � � � � � � � � � � � � � � � � � � � � � � � 2

2�3 � � ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 23

2�3�2 (�����	��� �� 0���� ,����� � � � � � � � � � � � � � � � � � � � � � � � � � 24

2�3�3 � � 
����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 25

2�3�4 6%����
��	�� �����
�� ��� � � ������ � � � � � � � � � � � � � � � � � � � � � 27

2�3�8 ��� ���
��� -��� �	�	�� �9� � � � � �9�� � � � � � � � � � � � � � � � � � � 3:

2�3�; (�����	 ����	����	� �� 	
� � � ����� 
��� � � � � � � � � � � � � � � � � � � 32

2�4 6%	�� '�
������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 34

2�4�2 ,�����$	
�$�� ����	���� 	� 	
� 
������
� ������
 � � � � � � � � � � � � � 34

2�4�3 �'' 
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 38

2�4�4 /� 
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 48
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������ ��

3�2 �
� ����	��� �������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8;

3�2�2 (��	�� ������	��� ��� ����	��� � � � � � � � � � � � � � � � � � � � � � � � 8;

3�2�3 ���� ��)��	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 85

3�2�4 ��	�$���	�� ������	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 85

3�2�8 /������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 87

3�2�; ����	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 87

3�3 �
� 1'* ��	��	�� �������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8<

3�3�2 0��
�	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8=

3�3�3 �������� ���	�
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8=

3�3�4 ��
�$��$*���
	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;5



�������� ��

3�3�8 �����	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;7

3�3�; 1�����
�	�� �������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;7

3�3�5 ���� ��	��	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;=

3�3�7 *��
�	��� �� � 
��� �������	� � � � � � � � � � � � � � � � � � � � � � � � � 5;

3�3�< �������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5<

3�4 � ����� 
��	��� �� 1'* � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 78

� ������	� �����	�� ��

� ���� ���
�� ��

8�2 '�
��� ��	� ��
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 7=

8�2�2 ������� ��� ��������� 
��
$�� 
��� ��	� ��
��� � � � � � � � � � � � � � � � 7=

8�2�3 '�
��� ��	� ��
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � <2

8�2�4 1��($1��( ��
��� �������� ��	� ��
��� � � � � � � � � � � � � � � � � � <3

8�2�8 1�
������� �� >� ���� ���	� 1���� 
��� ����	�-��	��� ��������� 	�

	
��� �� >� ���� ��	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � <5

8�2�; > ��
��� 1��?1�(?1�@ ��	� ��
��� � � � � � � � � � � � � � � � � � � <=

8�3 > ������	��� ��	� ��
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � <=

8�3�2 ������� ��� ��������� 
��
$�� ����	��� ��	� ��
��� � � � � � � � � � � � � � <=

8�3�3 > ������	��� ��	� ��	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � =:

8�4 ���	� 1���� ��	� ��
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � =3

� �������� ��
������ ������	�� ��	���	� ��

;�2 ��
��	�
 ��������	 ������ ��	� � � � � � � � � � � � � � � � � � � � � � � � � � � =8

;�2�2 6Æ������ �� ������� ������ �����	��� ���	���� ��� ������ 
���� � � � � � � � =7

;�2�3 6Æ������ �� ������� ������ �����	��� ���	���� ��� � � ������ � � � � � � � � � ==

;�3 ��
��	�
 ��������	 ������
�	�� �����	��� � � � � � � � � � � � � � � � � � � � � � 2:2



�������� ���

�  ���	� ��� ��!���	�� �"�

5�2 1��
�� ��� �
����	����	�� ������	��� � � � � � � � � � � � � � � � � � � � � � � � � � 2:4

5�3 �����	��� �� ���
�� ��� 	�
��� ��	 ����	���� � � � � � � � � � � � � � � � � � � � � � 2:5

5�3�2 �����	��� �� 	
� ����	��� �� 	
� ��
�$��$*���
	 ��	� � � � � � � � � � � � � � 2:<

5�3�3 �����	��� �� 	
� ����	��� �� 	
� �'1 	�
��� ��	� � � � � � � � � � � � � � � 22;

5�3�4 �������	��� �� 	
� 	�
��� ��	� � � � � � � � � � � � � � � � � � � � � � � � � 233

� �	���� ���� ���
�� �#��� ������	� ���� �
�

7�2 6!��	 �� 	
� �����	��� ���	���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 234

7�3 6���	� ��
���� �� 	�
��� ��	� ���� � � � � � � � � � � � � � � � � � � � � � � � � � 237

7�4 6���	 ��	
 �� 	�
��� �����
�	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � 242

$ �Æ�	���	�� ��


<�2 ���� ����	�-��	��� �Æ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 243

<�3 6Æ������ �� 	
� ���
�� ��� �����	��� ���	���� � � � � � � � � � � � � � � � � � � � � 245

<�3�2 6Æ������ �� 	
� ���
�� ��� ���	�% ��	A ��
�� $ ����� � � � � � � � � � � � � 247

<�3�3 6Æ������ �� 	
� ���
�� ��� �
���	 ����
�	�� ��	 � � � � � � � � � � � � � 247

<�3�4 6Æ������ �� 	
� B�� ��	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � 24=

<�3�8 ��

��� �� �Æ������ �� ���
�� ��� 	������� ��	� � � � � � � � � � � � � � � 24=

<�3�; 6Æ������ �� ���
�� ��� 	�
��� �����	��� ���	���� � � � � � � � � � � � � � � 24=

<�3�5 ��

��� ��� ��
����	��� �� 	�
��� ��	 �Æ�������� � � � � � � � � � � � � 284

<�4 ������� �Æ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 28;

<�4�2 ������� �Æ������ 
������
��	 ���
 � )�	 ��� ����	��� ��
��� � � � � � � 285

<�4�3 ������� �Æ������ ���
 � 1�@$1��( >

 ��
��� ��	� ��
��� � � � � � 28<

<�4�4 ������� �Æ������ ��� � ��
��� ����	 � � � � � � � � � � � � � � � � � � � � � 28=

<�8 6Æ������ �� -������ ����
� ��	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;:

<�; �������� �Æ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;:



�������� ��

<�5 ���� ������	���	��� �Æ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;:

<�7 ��	�� ��
��� ����	 �Æ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;2

� ����
����� ��


=�2 �����	���� ��� � � ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;3

=�3 �����	���� ��� /������$������
 �����	�� ���������� � � � � � � � � � � � � � � � 2;8

=�4 1�
������� �� � � 	� �����	�� �����	���� � � � � � � � � � � � � � � � � � � � � � � � 2;7

=�8 1����$�
��� �� 	
� �Æ������ ��� �����	���� � � � � � � � � � � � � � � � � � � � � � 2;7

�" �	%��� &�%	�� ���

2:�2 ��
��	�
 ������	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;=

2:�3 � � ����� ������ ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 254

2:�4 /������$������
 �����	�� ������ ������ � � � � � � � � � � � � � � � � � � � � � � � 255

�� ��
����� '��(%����� ��$

22�2 '����$C�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 25<

22�3 �9�� �9�� �9�� �?� � 	�	� ��� ������� ������	���� � � � � � � � � � � � � � � � � � � 25=

22�4 1
���� ��

�	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 27:

22�4�2 ��
�$���� 
�	
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 27:

22�4�3 �����	��� �� �����	��� ���������� ��	�
�	��� � � � � � � � � � � � � � � � � � 272

22�8 1��
�� ��� ���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 273
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24�2�2 ����� ��
�	� ��	
��	 �����	���	��� � � � � � � � � � � � � � � � � � � � � � � 2<4

24�2�3 ���������	��� �� �����	���	��� � � � � � � � � � � � � � � � � � � � � � � � � � 2<8

24�2�4 (����
 ��
�	 ������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2<;

24�3 /�� �� ����� ���	��� ����� ��
�	� � � � � � � � � � � � � � � � � � � � � � � � � � � � 2<5

24�4 /�� �� � �?�����	�� ����� 
��� ��
�	� � � � � � � � � � � � � � � � � � � � � � � � � � 2<=

�� &�� � &������*������� %���	��� �	��
��� �	�	�� ���

28�2 1�
������� �� 	
� � � 	� �����	�� �����	�� �����	���� � � � � � � � � � � � � � � � 2=;

28�3 1���� ���	��� ��
�	 ���������� �� �����	���� � � � � � � � � � � � � � � � � � � � � 2=7

28�4 /�� � /������ ������
 �����	�� ����� 
��� ��
�	� � � � � � � � � � � � � � � � � � 2==

�� ������	� ������
����� 
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2;�3 +	
�� ��
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2;�;�2 ������� ������� 
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����� �'1 	�
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1�8�3  ����� �'1 ����� 
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2�2 ���-��	��� �� 	
� �	���� E��F� ���� E����	F ��� ����	��
����	�� E��
F ��������

����	��	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2:

2�3 *���
�� ������
� ��� 	
� ���	��� ��� ��� � � �%�
���� ���������� �
��� 	
�

���	��� E�9
F ���	��� �	�	�� ��� �����
����	�� � ��� 	 G������ � � � � � � � � � � � � 2=

2�4 1��	��� 	� �����	��	� 	
� �	������ ����� -���� ���-��� 	� � 8$��
�������� �����$

	�
� ���$����� E�����F� ��
����� 	� �����	�� �
��
 ��� �������	� �� 	
� ���� 8H�

��
������� E����F� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3;

2�8 *���
�� ������
� ��� ���	��� �����	�� �%�
����� �� 	
� ���	��� �%�
���� �������

&& 	����� �� �����	��� ��� �� �%�
����� �� 	
� � �
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�� ��	
 	
�

�
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���
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E�9
F ���	��� �	�	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3=

2�; �
� ��	� ����	� �
�� 	
� �����	�� ��������	 
��� ���	����	��� �������� �	 	
�

1'* ����� ��	� ������	�� ��	���� 2==3$2==5� ������������� 	� �� ��	����	��

��
�����	� �� 22: ����� �
� ���
�� ����� ������	� 	
� ������	�� ����� ���	����

�� 	
� �'' 
���� �����	�� �%��	�� �� 	
� �������� �
��� �� 
�� 	
� ������

������	��� ���
 :�; 	� 2�; ��I� J48K� � � � � � � � � � � � � � � � � � � � � � � � � � 43

2�5 �� 	
� /� 
����� 	
� �� -���� ��� ���-��� 	� � 4$������ ����� �� 	
� ��I ������

�
��
 �� ����	�� �	 �L� �� 	
� ;$��
�������� ������ �
� �����	�	����� ��������$

	��� �� ��������� �� � 4$����� �	 �L:� ������ 	
� (����� ������ �
� �������� ��

�����	� ������ ������� �� 	
� �
��� ������� �� 	
� �����	�� ���� ����	��� ��	
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��I ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 4;
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2�7 '����$C�� ������	��� �� � E�F 7:: 0�I && �����	�� �	 	
� ����	��� ��	
 �? 9�� �

L 2�:�7�:�;�:�4�:�3 ��� :�2� ������	������ ���
 	�� 	� ��		�
" E�F 2;:: 0�I &&

�����	�� ��� �	� �����G���	 	���� �	�	�� �	 	
� D 1� *��
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�

������ ��� ��� �? 9�� � L 2�:�;�:�2�:�:; ��� :�:2 ������	����� J84K� � � � � � � � � � � 4<

2�< ������� ���	����	��� E. L ����F ��� 	
� ����� �� � ����$3 �����	�� ��	� ���
����

E	
� �$�
���� �����F �� ��
������� 	� ��
���� ������ �� ��	
�� 	
� ����$: E���
��F

�� ����$2 E��		�� ��	
 
���
� �	 . L �2F 
�%�
���� ����	� �����	��� ���	�����

�� ����$2 E��		�� ��	
 
���
� �	 . L :F ����	� ���������� ���	������ �
� ��	�

������ �
�� 	
� �����	 ���
 � 	������ ��
��� �� 2::: ����	�� �
��
 ����������� 	�

� ����� �� �
���
� � 83:: ��I ��	
 �? 9�� � L :�2 �	 	
� D 1 ��	
 2:: ��

�� J84K� � 82
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� /� 
����� ��
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���
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�	� ��	����� ���
 	
� ����	��� ��� 	
� ��	� ������	��� ���
 2==3$2==5�

�
��
 ����������� 	� �� ��	����	�� ��
�����	� �� 22: ����� �� �
��� �� 	
� 	��

����� ������ �� 	
� ���	" 	
� 
��
�� ��
���� ���� ��� �� ���
 ��)�	 ������	��� ���

	
� �	����
	�� ��� ����� �� ���
 �����	�� ��	�� �
� ����G�� ����
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 ������ -	� 	� 	
� ����
�	��� � ��� �� ��� ��� �
��� �� 	
� ���	

��� ���
	 ������	������ �
�����	���� ����	����	� ���
 	
� �����	��� �� 	
� �����

����� �? 9�� � � :�2� ��� 	� ����� 	
� 
������
� ������
" M� � 2: ��I� � � � � � � 83

3�2 ������ ���� �� *��
����� ��������� ���� �
� ������ ���� �� 	
� ����	��� E2 �


������F ��� 	
� �
����� 	
� ���� ��)��	��� � � � � � � � � � � � � � � � � � � � � � � 88

3�3 ��
�
�	�� ������
 �� 	
� ��������	�� �
��� �	 *��
����� � � � � � � � � � � � � � � 8;
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��� ��

3�4 6����	��� ���� �� ��� 
��� �� 	
� 1'* �� ��	��	��� �	 	
� ���	�� �� 	
� ��	��	�� ��

	
� 	������� ��	��	�� ���	�
� �
��
 ������	� �� ������� ���	�% ��	��	��� ��� � ����	

�
�
���� ����������� 	
��� ��	��	��� �� 	
� 
����	� �������� �� 	
� ������
�	���"

����	��
����	��� 	
�� 
�������� 6���
������� 	
� ������
�	��� ��� 
��� ����	

�
�
����� ����	����	��� ��� 	
��� �	��� �
�������� � � � � � � � � � � � � � � � � � � � 8<

3�8 ���� �� ����� 	
����� �� ��� ����
�� ����
���� � � � � � � � � � � � � � � � � � � � � � � � ;:

3�; 6�� ���� �
����� 	
� -�� ����� ��� 	����� ����� ���
��	�	��� �� � ������ ��

	
� 1'* �I@ ��	��	��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;3

3�5 ��
���� �� ��� ��� ����
��� ������� ��� ��

���� ������� � � � � � � � � � � � � � � � � ;3

3�7 6��	 ������	� ���	�� �
� ����� ��� -��� ������ ��� �	 	
� �����$���� ���� �� ���


���	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;8

3�< ��
���� ���� �����	 ��� ���������� 	�� E�D3F �� 	
� 1'* ���	��� 	������� �
�
���
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����� �� ��� ����� 
��

��� ����� ��
����� �� ��� ����� �
�� �� ��� ��� ����
���� �� 
 � � �� �
�
 �
���� ��


 
����
 �
� �
�
 �
����� ��� 
����
����� ��
� ���������� 
����� � 
��  ! �� ��� ���

�����
��"� ������� �
������ 

� 	� ���� �� ����������� 
����
 �
� �"���� ���� �����

����

�"����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;5

3�2: ��
�
�	�� ������
 �� 	
� 1'* ��	��	��� ��	
 ������ ������	��� 	
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� ��
��� �������� ��	� ��
��� �� 	�
��� ��	�� �
� ������ ������	�

	
� ����	��� �� 	
� 
��� 	������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � 23<

7�7 ������� 	������� ����	 ������� ���� ��� ����	 E�F ��)��	�� �� � ���
�� ��� �� 	�
���

��	�� �
� ������ ������	� 	
� ����	��� �� 	
� 
��� 	������ � � � � � � � � � � � � � 23=

7�< 1��	��� 	������� �
�
��� ����	 ������� ���� ��� ����	 E�F ��)��	�� �� � ���
��

��� ���
 	
� ��
��� �������� ��	� ��
��� �� 	�
��� ��	�� �
� ������ ������	�

	
� ����	��� �� 	
� 
��� 	������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � 23=

7�= ������� 	������� ����	 ������� ���� ��� ����	 E�F ��)��	�� �� � ���
�� ��� ���
 	
�

��
��� �������� ��	� ��
��� �� 	�
��� ��	�� � � � � � � � � � � � � � � � � � � � � 24:

7�2: 1��	��� 	������� �
�
��� ����	 ������� ���� ��� ����	 E�F ��)��	�� �� � ���
��

��� ���
 	
� ��
��� �������� ��	� ��
��� �� 	�
��� ��	�� �
� ������ ������	�

	
� ����	��� �� 	
� 
��� 	������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � 24:

7�22 ������� ���	�% ��	��	�� ����	 ������� ���� ��� ����	 �� 	
� ��
��� �������� ��	�

��
��� ��	
 �� ��
�$��$*���
	 �� 
����� �'1 	�
��� �����
�	���� �
� ������

������	� 	
� ����	��� �� 	
� 
��� 	������ � � � � � � � � � � � � � � � � � � � � � � � 242



���� �� ��	
��� ��

7�23 1��	��� 	������� �
�
��� ����	 ������� ���� ��� ����	 �� 	
� ��
��� �������� ��	�

��
��� ��	
 �� ��
�$��$*���
	 �� 
����� �'1 	�
��� �����
�	���� �
� ������

������	� 	
� ����	��� �� 	
� 
��� 	������ � � � � � � � � � � � � � � � � � � � � � � � 242

<�2 ��
�� � ����� ���	����	��� ��� 	
� >�� ������	��� ��	� ��
���� � � � � � � � � � � � � 247

<�3 1��( 	������ �Æ������� ��	��
���� ����� � )�	 ��� �� ����	��� ��
��� J5;K� � � 287

=�2 �����	���� �� � ����	��� �� � � 
��� ��� ���	� 1���� 1��( 1��( ��
���

��
����	���� �� � � � ��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;4

=�3 P��	
 �� � ���	� 1���� ������	�� /������$������
 
���� �����	�� ���������

�� 
��� 8:: 0�I?�� ��� ������ �� ���	
 ����
�	�� E�? 9�� �F :�::3� :�:43� :�:< ���

:�2� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;8

=�4 '��������� �� 	
� �����	�� �����	���� �� 	
� /������$������
 
���� �����	��

���	
 ����
�	�� E�? 9�� �F ��� � -%�� �����	�� 
��� �� 8:: 0�I?�
�� ��	��
����

����� ���	� 1����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2;;

=�8 �����	���� �� 	
� /������$������
 �����	�� E�F �� � ����	��� �� ��
��� 
����

��
����� 	� 	
� � � �����	���� EHF� ��� ���	� 1���� 1��($1��( ��
����� � � 2;5

2:�2 ���������� 
�
��	�
 ���	����	���� ��� ���	� 1���� 
���� ��	�� ��	��	�� �����$

�	���	��� ��
����� 	� 	
� ������	�� 	��������� 
�
��	�
� � � � � � � � � � � � � 252

2:�3 ��������	 
��� ���	����	��� �� � � � �����	� 1����� *�� ���
 � � 
��� � ��������

��� -		�� 	� 	
� � � ������ ��
���� �
� 	�� ������ ��	
�� ���� �� 	
� ����� ������	�

	
� ������ � 4 �	������ �����	���� ���
 	
� 
��� ��� 	
� ��		�� ������ �	 2;:

0�I?�� ������	� 	
� ����� ����� �� 	
� ������ ������� � � � � � � � � � � � � � � � 258

2:�4 ��������	 
��� ���	����	��� �� � � � �����	� 1����� *�� ���
 � � 
��� � ��������

��� -		�� 	� 	
� � � ������ ��
���� �
� ������ ������	� 	
� ����� ����� �� 	
�

������ ������� �	 2;: 0�I?��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 25;



���� �� ��	
��� ���

2:�8 '�
��� ��������	 
��� ���	����	��� �� 0 � �� �� ��	
 �? 9�� � L :�::3 E�
���

���	
 �� 	
� -���� 
������ ������ 	� �? 9�� �?:�;8 L :�:2F ��� �����	�� 
����� ���


2:: �� 	� <:: 0�I�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 257

22�2 ��������	 
��� ���	����	��� ��� 	
� �������� ��
��� ��	� ��
��� E25�; ����F� ��	


��� ��	� ������� �%���	 	
� �����	��� ��	� � � � � � � � � � � � � � � � � � � � � � � � 272

22�3 �����	��� �� �����	��� ��� 	
� �������� ��
��� ��	� ��
��� E25�; ����F� � � � � � � 273

22�4 6%���	�� ���������� E��	�
�	�� ���
 ���	� 1���� ��� ���
������ 	� ��	�F

E�
���� ������F ��� ��	� E����	�F ��	
 25 ���� ��	� �� � ����	��� �� ��
���

��������	 
��� ��� ;: 0�I?�� 
��� ���� �
� ����� ���	 �
��� 	
� �%���	��

���������� �� � ��� ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 27;

22�8 6%���	�� ���������� E��	�
�	�� ���
���	� 1���� ��� ���
������ 	� ��	�F E����F

��� ��	� E����	�F ��	
 25 ���� ��	� �� � ����	��� �� ��
��� ��������	 
���� �
�

����� ���	 �
��� 	
� �%���	�� ���������� �� � ��� ������ � � � � � � � � � � � � � 275

24�2 =; O ���-����� ����� ��
�	 �� 	
� ������	��� ����� ���	��� 	�
�� �����
��� ����$

	��� �� � � � �� E�� ,/E� �� �� ��FF ��� �� ��	����	�� ��
�����	� �� 25 ����

�� � ����	��� �� � � 
���� ��	
��	 �����	���	��� ��� ����� 1��($1��( ��
���

��
����	����� ���� �
��� �� 	
� ������	�� ������	��� ����� ���	��� 	�
�� �����
$

��� ����	��� �� � � � ��� �
� ��	�����	��� �� 	
��� ������ ������	�� 	
� =; O 1�D�

����� � � 
��� ��
�	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2=2

24�3 =; O ���-����� ����� E1�D�F ��
�	 �� 	
� ������	��� ����� ���	��� 	�
�� �����
���

����	��� �� � � � �� E�� ,/E� �� �� ��FF ��� �� ��	����	�� ��
�����	� �� 25 ����

�� � ����	��� �� � � 
���� ��	
 �����	���	��� �������� ��� ����� 1��($1��(

��
��� ��
����	����� ���� �
��� �� 	
� ������	�� ������	��� ����� ���	��� 	�
��

�����
��� ����	��� �� � � � ��� �
� ��	�����	��� �� 	
��� ������ ������	�� 	
� =;

O 1�D� ����� � � 
��� ��
�	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2=2



���� �� ��	
��� ����

24�4 =; O ���-����� ����� ����� ��
�	 �� 	
� ������	��� ����� ���	��� 	�
�� �����
���

����	��� �� �� /� 
���� �����	�� �������� 	� ��
���� E� � ,/E0 � �� ��FF

�� � ����	��� �� �����	�� 
���� ��� �� ��	����	�� ��
�����	� �� 25 ����� ��	


�� �����	���	��� �������� ��� ����� 1��($1��( ��
��� ��
����	����� ����

�
��� ��� 	
� ������	�� � � ,�E0 � �� ��F ������ ��� �? 9�� � L :�:2� :�:7� :�:<;

��� :�2� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2=3

24�8 =; O ���-����� ����� ����� ��
�	 �� 	
� ������	��� ����� ���	��� 	�
�� �����
���

����	��� �� �� /� 
���� �����	�� �������� 	� ��
���� E� � ,/E0 � �� ��FF ��

� ����	��� �� �����	�� 
���� ��� �� ��	����	�� ��
�����	� �� 25 ����� ��	
 �����$

	���	��� �������� ��� ����� 1��($1��( ��
��� ��
����	����� ���� �
��� ���

	
� ������	�� � � ,�E0 � �� ��F ������ ��� �? 9�� � L :�:2� :�:7� :�:<; ��� :�2� � 2=4

24�; =; O ���-����� ����� �%������ ������ �� 	
� ����� ��� �����	�� 
��� �� �? 9�� �

��� �� ��	����	�� ��
�����	� �� 25 ����� � � � � � � � � � � � � � � � � � � � � � � � 2=8

28�2 �����	���� �� 	
� � � ����� E���	F ��� �� 	
� /������$������
 �����	�� E���
	F

�� � ����	��� �� ���	� 1���� ������	��� 
��� J<7K� 6���	���� ��	��	�� �� 	
�

���� ����	��
����	�� ������
�	�� ��� �������� ( ��� 	
��� ��	��	�� �� 	
� ���	���

����	��
����	�� ������
�	�� ��� �������� 1� � � � � � � � � � � � � � � � � � � � � � 2=5

28�3 1�
������� �� 	
� =; O ���-����� ����� ����� ��
�	 �� 	
� ������	��� ����� ���$

	��� 	�
�� �����
��� ����	��� �� /������ ������
 �����	�� �������� 	� ��
����

E� � ,/E0 � �� ��FF 	� 	
�	 �� � � ����� �������� 	� ��
���� E� � ,/E� � �

�� ��FF �� � ����	��� �� ��
��� ��������	 
���� ��� �� ��	����	�� ��
�����	� ��

25 ���� �� /�� �� ��	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2=<



���� �� ��	
��� �����

28�4 1�
������� �� 	
� =; O ���-����� ����� ����� ��
�	 �� 	
� ������	��� �����

���	��� 	�
�� �����
��� ����	��� �� /������ ������
 �����	�� �������� 	� ������$

	���� E� � ,/E0� �� ��FF 	� 	
�	 �� � � ����� �������� 	� ������	���� E� � ,/E� �

� �� ��FF �� � ����	��� �� ������	��� ��������	 
���� ��� �� ��	����	�� ��
�����	�

�� 2: ���� �� /�� �� ��	� J<7K� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2=<

28�8 =; O ���-����� ����� ����� ��
�	 �� 	
� ������	��� ����� ���	��� 	�
�� �����
���

����	��� �� /������ ������
 �����	�� �������� 	� �����	��� E� � ,�E0 � �����$

	���FF �� � ����	��� �� ��
��� ��������	 
���� ��� �� ��	����	�� ��
�����	� �� 22:

���� /�� � �����	�� ��	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3::

28�; =; O ���-����� ����� �%������ ������ �� 	
� ����� ��� /������$������
 
����

�����	�� 
��� �� �? 9�� � ��� �� ��	����	�� ��
�����	� �� 22: ��
�� /�� � �����	��

��	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 3:2

2;�2 (��)��	�� =; O ���-����� ����� ����� ��
�	 �� 	
� ������	��� ����� ���	��� 	�
��

�����
��� ����	��� �� � � �������� 	� ��
���� E� � ,/E0� �� ��FF �� � ����	���

�� � � 
��� ��� �� ��	����	�� ��
�����	� �� 2:: ��� 3:: ����� �����	���	���

���� �������� ��� ���� 1��($1��( ��
��� ��
����	���� ���� ����� �	 ���

����
�� 	
�	 �� ����	� ���� �������� �� 	
� ������ ������� � � � � � � � � � � � � � 3:;

2;�3 (��)��	�� =; O ���-����� ����� ����� ��
�	 �� 	
� ������	��� ����� ���	��� 	�
��

�����
��� ����	��� �� 0 �������� 	� ��
���� E� � ,/E0 � �� ��FF �� � ����	���

�� �����	�� 
��� ��� �� ��	����	�� ��
�����	� �� 2::� 3:: ��� 3::: ����� �����$

	���	��� ���� �������� ��� ���� 1��($1��( ��
��� ��
����	���� ���� �����

�	 ��� ����
�� 	
�	 �� ����	� ���� �������� �� 	
� ������ ������� � � � � � � � � � 3:;

2;�4 �����	���� �� � ����	��� �� � � 
��� ��� ������� ���	� 1���� ��
��� ��
����	����

E1��($1��(?1��?1�(?1�@F ��� � � � ��� � � � � � � � � � � � � � � � � � 3:<



���� �� ��	
��� ���

2;�8 =; O ���-����� ����� ����� ��
�	 �� 	
� ������	��� ����� ���	��� 	�
�� �����
���

����	��� �� � � � �� �� E� � ,/E>� � �� ��FF �� � ����	��� �� � � 
��� ���

���������� 	
� ��	����	�� ��
�����	� �� 2:: ��� 3:: ����� �
� �����	���	���

�������	�� ��� 	
� 25 ���� ��
��� ���� �������� ��� ���� 1��($1��( ��
���

��
����	���� ���� ����������� �	 ��� ����
�� 	
�	 �� ����	� ���� ��������

�� 	
� ������ ������� �
��� ������	�� � � ,/E>� � �� ��F ������ ��� �
����

������������� 	� ��!����	 ���	�� �� 
��� ��������� � � � � � � � � � � � � � � � � � 325

2;�; �
� �%���	�� 
��� ����
� ��-��� �� 	
� =;O 1�D� ����� ��
�	 �� 	
� 
��� ���

��	����	�� ��
�����	� �	 	
� ����	��� ��� �����
�� ��� ��� ����� ������ J;2K� � � 325

2;�5 6%������ ������ �� 	
� �? 9�� � ��� �

���
� ����� ��� /� 
���� �����	���� �� �
��


	
� �� ���	����� ��� ���-��� 	� 	
� ��I$������ �
� ������ E�F ��� ���
	 ����

E�F ����� ������ ����� ���
 ����G�� ������	��� ����	����	� ��� 	
� �%������ �������

��� ����� ��� 	� 	
� ���	 �� 	
��� ������� �
� ���� ���� ��
�� ���
�� ��� ���

�	����
	 ���
�� ������ ��� 	
� ������	�� ������ ���
 /�� �� E3 ����F ����	���

���
 ��)�	 ��� �����	�� �����
�� ������	����� ��� ���� �%����� ������� ����� ���

	� 	
� ���	 J84K� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 32<

2;�7 ��

��� �� ������	 �%����
��	��� 	
����	���� ��� 	
� ������	�� D 1 ����	����	�

�� 	
� /� 
����� �� 	
� �? 9�� � ��� �

���
� ������ �
� ������� ������ ���� �� 	
�

���	��� �� ������	��� �
� ��
�	� ��	����� ���
 	
� ����	��� ��� 	
� ��	� ������	��

��	���� 2==3 ��� 2==5 �� �
��� �� 	
� ����� ����� �� 	
� ���	� �
� 	
����	����

����	����	� ��
�	��� �? 9�� � � :�2 ��� M� � 2: ��I ����� ���
 	
� ����� ��

	
� �����	��� �� 	
� ;$��
�������� ����� ��� 	
� ������ 	� ����� 	
� 
������
�

������
� �
� D 1 �����	���	� 	� �����	�� ���������� �� 	
� �����	�� �
����� ��

��������	�� �� 	
� �������� ���
�� ��� ����� ������� ������������� 	� 2: ��� 2::

���� �� ��	����	�� ��
�����	�� ������	����� J84K� � � � � � � � � � � � � � � � � � � � 32=

,�2 *����� 	� �
�� -��	 ����� 
� ������	���� � � � � � � � � � � � � � � � � � � � � � � � �
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��� ��

,�3 *����� 	� �
�� ����	����
�� ��	���� ��$������	�� �� � ��	�	�� ��������� ���
�� � � ��

1�2 6Æ������ �� � ����$	�$���� ��	 �� � � � ������ ��
��� �� � ����	��� �� � � 
����

��� ���	� 1���� > ��� � � ��
����� � � � � � � � � � � � � � � � � � � � � � � � � � � �%
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��� ���

���� �� 
�����

2�2 �
� �����
��	�� ���
���� �� 	
� �	������ ����� ������� �� ������	��� � � � � � 2

2�3 *����
��	�� ��	����	���� �� 	
� �	������ ������ � � � � � � � � � � � � � � � � � � 3

2�4 ������� ��� ��� 
�����
���� �� ��� 	
� ���
����� �
��� � ��� 
 ��������	 	
�

��$	��� ��� ����$	��� G����� ������	������ � � � � � � � � � � � � � � � � � � � � � 7

2�8 6���	��� �
����� 
� L ��� H
�

�
���� ��� ���	�� ��� �%��� ��������� ��� ��A �

� L ���

$ 3
��� 
��� � !

� L ���" ��� 	
� ���
���� �� ����� 2�4� � � � � � � � � � � � � � � � � � <

2�; 6%	�� "E2F� �
����� Q�� ������
��	� ��� �������� ���
����� � � � � � � � � � � � � � 24

2�5 1
����� �� ������� � � 
������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � 27

2�7 1�
������� �� 	
� =; O ���-����� ����� ����� ��
�	� ����� E0�I?��F ���
 D6(

��� ����
�	�� ����	������ -	� J28K ��� �����	 �����
�� E1'* /�� �F J3:K ��� ��


�%���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 33

2�< ������� ���	����	���� �� �����	�� E0F� ���	�� EIF ��� ������ E�F ����� ������	���

��� ������ � L 2 �� �	������ ����� ���������� � � � � � � � � � � � � � � � � � � � 8:

3�2 ��

��� �� 	
� ��
�����	� �� 	
� 1'* ���	��� 	������� �
�
��� E1+�F ��	��	��� ;;

3�3 1
����	����	��� �� 	
� 1'* /�� �� ������
�	��� �� �� 	
� �����	��� ����	
 ��� #

	
� 
������� ��	����	��� ����	
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;<

3�4 #
�
������ �� ���� ����
���� 
� ���� #��� �����

���� ������ 
�� ��� ����� �� ��� 

������� ��� �� �������� �

������� 
�� 
������� 
� � $ !�Æ �� ��� 
����
� ����
����

�%&��%#��'#( 
� � $ ))Æ �� �%* 
�� �'*( 
�� �� ��� ������ � 
�"��
�� ��� ���

+%& ,)-.� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5:

3�8 �����$�	�� 
�	�
��� ���	���� ��� 	
� ���	��� 
��� E1��F� ���	��� 
��� �������

E1�(F ��� ���	��� 
��� �%	������ E1�@F ��	��	��� � � � � � � � � � � � � � � � � 57

3�; ��	����	�� ��
�����	� ������	�� ��� ���� ������ /�� �� �	 	
� 1'*� � � � � � � � � 78
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8�2 �����	��� ���	���� ���� 	� �����	 ����	� ���
 	
� ��������� 
��
$�� 
��� �

�:4

��	� ��
��� 	� ���
 	
� R��������� 
��
$�� 
��� ��	� ��	S� � � � � � � � � � � � � <2

8�3 ����	����� �����	��� ���	���� ���� 	� �����	 ����	� ���
 	
� �������� R���������


��
$�� 
��� ��	� ��	S 	� ���
 	
� ��
��� ��	� ��
���� � � � � � � � � � � � � � <3

8�4 ��

��� �� 	
� 	
��� ������� �� �������� �����	��� ��	� ���� 	� �����	 	
� ��������

��
��� ��
���" ���	��� ��	� E	������� ����
�	�� ��� -������F� 	
� 
��� ����	�-$

��	��� ��	� E�'F ��� 	
� ���
�� ��� E1/F ��	�� ��� 
���� ��� ��G������ ��	


������� 	
� ��
� �����	��� ���	����� � � � � � � � � � � � � � � � � � � � � � � � � � � <4

8�8 �����	��� ���	���� ���� 	� �����	 ����	� ���
 	
� �������� ��������� 
��
$�� ����	���

��	� ��	 	� ���
 	
� >�� ��	� ��	� � � � � � � � � � � � � � � � � � � � � � � � � � � � =2

;�2 ��
��	�
 ���������� �� ����	��
����	�� E6�F ��� 
������� E �'F ������

�����	��� ���	����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � =<
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	 E��*F ����� 	�
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��
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� 
�%�
�
 �������?����������

��	�� E��?�F� 
�%�
�
 ��?� ��	�� �
��
 ���� 2:: O �Æ����	 ��� 
�%�
�
 ��?�

��	�� �
��
 ���� 2:: O �Æ����	 ��� = �� ����� �
� ������ ��� ���
 	
� >�� ��$

����	��� ��	� ��
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��� E25�; ����F ���

���������� ���
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��
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�%�
�
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�%�
�
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��
 ���� 2:: O �Æ����	 ��� 
�%�
�
 ��?�

��	�� �
��
 ���� 2:: O �Æ����	 ��� = �� ����� �
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� >�� ��$

����	��� ��	� ��
��� E2:�8 ����F ��� >
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��� ��	� ��
��� E25�; ����F ���

���������� ���
 � ���
�� ��� ��	� ��
���� �
� ������
 ����� 	� 	
� >�� ��
���
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� ��	� �
��
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� 
�%�
�
 �������?���������� ��	��

E��?�F� 
�%�
�
 ��?� ��	�� �
��
 ���� 2:: O �Æ����	 ��� 	
� �
���� ��	� �
�

������ ��� ���
 � >

 ��	� ��
��� E25�; ����F ��� 	
� ���������� ���
 �

���
�� ��� ��	� ��
���� �
� ������
 ����� 	� *����� 5�22� � � � � � � � � � � � � � � 22<

5�;  ����� �'1 ����� 	�
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��
 
�� 	
� 
�%�
�
 �������?���������� ��	��

E��?�F ��� 	
� 
�%�
�
 ��?� ��	�� �
��
 ��� 2:: O �Æ����	� �
��
 ��� 	
� �
�$

��� ��	� �
� ������ ��� ���
 � >

 ��	� ��
��� E25�; ����F ��� 	
� ����������

���
 � ���
�� ��� ��	� ��
���� �
� ������
 ����� 	� 	
� ���
	 ���	 �� *����� 5�23� 22=

5�5 ��

��� �� 	
� 
����� �'1 	�
� ��!������ ��	� �
��
 
�� 	
� 
�%�
�


�������?���������� E��?�F ��	��� 
�%�
�
 ��?� ��	�� �
��
 ��� 2:: O �Æ����	

��� 	
� ��	 ����	��� �	 	
� R����S �� 	
� ��?� �� �Æ������ ���	����	���� �
� ���$

��� ��� ���
 � >

 ��	� ��
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��
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 ��
��� 	� �����	 	
� 1��($1��( ���

1�@$1��( � ��
��� ��	� ��
���� ���� 	� 
������ 	
� �Æ������ �� 
���$

����	�-��	��� ��	� E$ �F� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 244

<�4 6Æ������ �� 
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���$����	�-��	��� ��	� E$ �F ����� 1�@$1��( >

 ��	� ��
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L2 trigger

Detector

L3 Farm

Mass
Storage

L1 Accept

Level 2:
Asynchronous 2 stage pipeline
~20µs latency
300 Hz Accept Rate

L1+L2 rejection:  20,000:1

7.6 MHz Crossing rate
132 ns clock cycle

L1 trigger

Level1:
7.6 MHz Synchronous pipeline
5544ns latency
<50 kHz Accept rate

L2 Accept

L1 Storage
Pipeline:
42 Clock 
Cycles Deep

L2 Buffers: 
4 Events

DAQ Buffers 

PJW  10/28/96

Dataflow of CDF "Deadtimeless" 
Trigger and DAQ
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RUN II TRIGGER SYSTEM

Detector Elements

GLOBAL 
LEVEL 1

L1 
CAL

COT

XFT

 MUON

MUON
PRIM.

L1
MUON

 L2 
CAL

CAL

XTRP

L1
TRACK

SVX 

SVT

CES

XCES

PJW 9/23/96

GLOBAL 
LEVEL 2 TSI/CLK
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Event : 131137  Run : 144423  EventType : DATA | Unpresc: 35,36,41,42,11,12,13,15,49,19,23 Presc: 41,42,49 Myron mode: 0

*����� 7�2:A 1��	��� 	������� �
�
��� ����	 ������� ���� ��� ����	 E�F ��)��	�� �� � ���
�� ���
���
 	
� ��
��� �������� ��	� ��
��� �� 	�
��� ��	�� �
� ������ ������	� 	
� ����	��� �� 	
�

��� 	������



���� ����� ���� �� �����	 ����������� ���

&�� ��
�� ���� �	 ��
��$ ���	�
���	�

�
��� ��� ��� ����	 �� 	
� �������� ��
��� �
��
 
�� �� 	�
��� �����
�	���� �
�� ����	�

�������� E�F� ��� ��	 ��)��	��� �����	�� 	���� ����
�	��� ��� 	
� 	�� 
���� �� 	
� ����	 ���

�
��� �� ����� 7�;� �
� ��!������ �� � ��� 4�42 �������� 
���� �� $ E���� $ ����F� L :�257

�������� �� =�5Æ� �
� ����$	�$���� ��	 ��)��	�� ����	� �� 	
�� ������� ������	��� ��� ���� 	
��

:�::= ������� �� :�;Æ� �� 	
� 	����� ���� ���� ����$	�$���� �� � E�� H �� � :�3F� �
������� 	
�

	����� ���� ��	 ����$	�$����� �� �����	��	�� �� *����� 7�22 ��� *����� 7�23� *����� 7�22 ����

��
���	��	�� 	
�	 ��	
 �� 	
� 
��� 	����� �������	�� ���
 	
� ����	 ��	����	��� ���	�%�

6���	 
��� 
��� ���� ���� ��� ��� ��� $ ��� ��� H���

�
 �
 �
 �
 ������� ������� ������� �������

� :�::5 :�:7= 5�5 7�4 5�:7 3�75 4�42 $:�:;<

����� 7�;A ����� �����
�	��� ��� 	
� ����	 �� 	
� ��
��� �������� ��	� ��
��� �
��
 
�� ��
	�
��� �����
�	��� ��� ��	
�� 
����

*����� 7�22A ������� ���	�% ��	��	�� ����	 ������� ���� ��� ����	 �� 	
� ��
��� �������� ��	�
��
��� ��	
 �� ��
�$��$*���
	 �� 
����� �'1 	�
��� �����
�	���� �
� ������ ������	� 	
�
����	��� �� 	
� 
��� 	������

Event : 79696  Run : 144941  EventType : DATA | Unpresc: 36,40,41,42,11,44,13,15,17,19,21,23,29 Presc: 41,42,44,17 Myron mode: 0
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2 = 0.002, Graviton Mass = 400 GeV/cplk/M

Mean  =  399.8
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Chi2 / ndf = 34.43 / 29

 0.7996 ±Constant = 5.398 

 4.877 ±Mean     = 392.8 

 6.216 ±Sigma    = 40.71 
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2 = 0.032, Graviton Mass = 400 GeV/cplk/M
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2 = 0.08, Graviton Mass = 400 GeV/cplk/M

Mean  =  393.1
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  3.61 ±Mean     =   401 

 4.759 ±Sigma    = 32.47 
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Mean  =  398.1

RMS   =  50.04

Chi2 / ndf =  38.8 / 34

 1.069 ±Constant = 6.929 

 3.294 ±Mean     = 399.4 

 3.875 ±Sigma    = 29.37 

2 = 0.1, Graviton Mass = 400 GeV/cplk/M

Mean  =  398.1

RMS   =  50.04

Chi2 / ndf =  38.8 / 34

 1.069 ±Constant = 6.929 

 3.294 ±Mean     = 399.4 

 3.875 ±Sigma    = 29.37 
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Reconstructed Pt in GeV
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Reconstructed Pt for Generated Pt = 50 GeV Nent = 950    
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Reconstructed Pt for Generated Pt = 100 GeV Nent = 949    

Mean  =  100.1
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Reconstructed Pt for Generated Pt = 200 GeV Nent = 958    

Mean  =  202.5

RMS   =  28.56

Under =      0

Over  =      1

Reconstructed Pt in GeV
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Nent = 948    
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Reconstructed Pt for Generated Pt = 300 GeV Nent = 948    

Mean  =  307.1

RMS   =   55.8

Under =      0

Over  =      3
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Reconstructed Pt for Generated Pt = 400 GeV Nent = 956    

Mean  =  411.9

RMS   =   86.9

Under =      0

Over  =      6
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Reconstructed Pt for Generated Pt = 500 GeV Nent = 956    

Mean  =    518

RMS   =    132

Under =      0

Over  =     17
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 bin2invariant mass per 5 GeV/c
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Nent = 178    
Mean  =  197.4
RMS   =  26.29
Under =      0
Over  =      0
Chi2 / ndf = 21.59 / 22

 2.889 ±Constant = 26.19 
 0.9655 ±Mean     = 200.4 
 0.9229 ±Sigma    = 11.94 

 Z’ 200 GeV
Nent = 178    
Mean  =  197.4
RMS   =  26.29
Under =      0
Over  =      0
Chi2 / ndf = 21.59 / 22

 2.889 ±Constant = 26.19 
 0.9655 ±Mean     = 200.4 
 0.9229 ±Sigma    = 11.94 

 bin2invariant mass per 5 GeV/c
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Nent = 190    
Mean  =  244.9

RMS   =  25.15
Under =      0
Over  =      0

Chi2 / ndf = 13.92 / 20
 1.943 ±Constant = 19.73 

 1.492 ±Mean     = 248.9 

 1.347 ±Sigma    = 18.32 

 Z’ 250 GeV
Nent = 190    
Mean  =  244.9

RMS   =  25.15
Under =      0
Over  =      0

Chi2 / ndf = 13.92 / 20
 1.943 ±Constant = 19.73 

 1.492 ±Mean     = 248.9 

 1.347 ±Sigma    = 18.32 

 bin2invariant mass per 5 GeV/c
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Nent = 213    
Mean  =  294.7
RMS   =  38.02
Under =      0
Over  =      0
Chi2 / ndf = 41.09 / 31

  1.81 ±Constant =  16.9 
 1.765 ±Mean     = 296.7 
 1.619 ±Sigma    = 20.53 

 Z’ 300 GeV
Nent = 213    
Mean  =  294.7
RMS   =  38.02
Under =      0
Over  =      0
Chi2 / ndf = 41.09 / 31

  1.81 ±Constant =  16.9 
 1.765 ±Mean     = 296.7 
 1.619 ±Sigma    = 20.53 

 bin2invariant mass per 5 GeV/c
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Nent = 266    
Mean  =  344.1
RMS   =  47.72
Under =      0
Over  =      0
Chi2 / ndf = 43.85 / 45

 1.508 ±Constant = 15.85 
 1.937 ±Mean     = 348.8 
 1.924 ±Sigma    = 28.02 

 Z’ 350 GeV
Nent = 266    
Mean  =  344.1
RMS   =  47.72
Under =      0
Over  =      0
Chi2 / ndf = 43.85 / 45

 1.508 ±Constant = 15.85 
 1.937 ±Mean     = 348.8 
 1.924 ±Sigma    = 28.02 

 bin2invariant mass per 5 GeV/c
0 200 400 600 800 1000 1200 1400

0

5

10

15

20

25
Nent = 301    
Mean  =  396.7

RMS   =  45.73
Under =      0
Over  =      0

Chi2 / ndf = 72.64 / 43
 0.983 ±Constant = 10.71 

 3.192 ±Mean     = 397.3 

 3.332 ±Sigma    = 44.24 

 Z’ 400 GeV
Nent = 301    
Mean  =  396.7

RMS   =  45.73
Under =      0
Over  =      0

Chi2 / ndf = 72.64 / 43
 0.983 ±Constant = 10.71 

 3.192 ±Mean     = 397.3 

 3.332 ±Sigma    = 44.24 

 bin2invariant mass per 5 GeV/c
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Nent = 268    
Mean  =  447.7
RMS   =  66.42
Under =      0
Over  =      0
Chi2 / ndf = 41.01 / 53

 0.8519 ±Constant = 9.605 
 3.518 ±Mean     = 449.6 

 3.267 ±Sigma    = 48.54 

 Z’ 450 GeV
Nent = 268    
Mean  =  447.7
RMS   =  66.42
Under =      0
Over  =      0
Chi2 / ndf = 41.01 / 53

 0.8519 ±Constant = 9.605 
 3.518 ±Mean     = 449.6 

 3.267 ±Sigma    = 48.54 

 bin2invariant mass per 5 GeV/c
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Nent = 326    
Mean  =  497.4
RMS   =  87.84
Under =      0
Over  =      0
Chi2 / ndf = 57.08 / 67

 0.7057 ±Constant = 7.922 
 5.311 ±Mean     = 490.8 
 6.463 ±Sigma    = 74.62 

 Z’ 500 GeV
Nent = 326    
Mean  =  497.4
RMS   =  87.84
Under =      0
Over  =      0
Chi2 / ndf = 57.08 / 67

 0.7057 ±Constant = 7.922 
 5.311 ±Mean     = 490.8 
 6.463 ±Sigma    = 74.62 

 bin2invariant mass per 5 GeV/c
0 200 400 600 800 1000 1200 1400

0

5

10

15

20

25
Nent = 326    
Mean  =  549.6
RMS   =  105.2
Under =      0
Over  =      0
Chi2 / ndf = 87.73 / 77

 0.7696 ±Constant =  7.36 
 5.113 ±Mean     = 536.8 
 7.195 ±Sigma    = 69.56 

 Z’ 550 GeV
Nent = 326    
Mean  =  549.6
RMS   =  105.2
Under =      0
Over  =      0
Chi2 / ndf = 87.73 / 77

 0.7696 ±Constant =  7.36 
 5.113 ±Mean     = 536.8 
 7.195 ±Sigma    = 69.56 
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 bin2invariant mass per 5 GeV/c
0 200 400 600 800 1000 1200 1400

0

5

10

15

20

25
Nent = 360    
Mean  =    598
RMS   =  102.2
Under =      0
Over  =      0
Chi2 / ndf = 110.3 / 81

 0.5329 ±Constant = 5.879 
 6.809 ±Mean     =   595 
  8.05 ±Sigma    = 92.31 

 Z’ 600 GeV
Nent = 360    
Mean  =    598
RMS   =  102.2
Under =      0
Over  =      0
Chi2 / ndf = 110.3 / 81

 0.5329 ±Constant = 5.879 
 6.809 ±Mean     =   595 
  8.05 ±Sigma    = 92.31 
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Nent = 364    
Mean  =  643.5
RMS   =  128.4
Under =      0
Over  =      0
Chi2 / ndf = 75.31 / 100

 0.4512 ±Constant = 5.064 
 8.947 ±Mean     = 639.2 
 11.99 ±Sigma    = 128.4 

 Z’ 650 GeV
Nent = 364    
Mean  =  643.5
RMS   =  128.4
Under =      0
Over  =      0
Chi2 / ndf = 75.31 / 100

 0.4512 ±Constant = 5.064 
 8.947 ±Mean     = 639.2 
 11.99 ±Sigma    = 128.4 

 bin2invariant mass per 5 GeV/c
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Nent = 380    
Mean  =  690.4
RMS   =  164.3
Under =      0
Over  =      0
Chi2 / ndf = 105.1 / 115

 0.4076 ±Constant = 4.037 
 13.13 ±Mean     = 692.6 
    22 ±Sigma    = 170.4 

 Z’ 700 GeV Nent = 380    
Mean  =  690.4
RMS   =  164.3
Under =      0
Over  =      0
Chi2 / ndf = 105.1 / 115

 0.4076 ±Constant = 4.037 
 13.13 ±Mean     = 692.6 
    22 ±Sigma    = 170.4 

 bin2invariant mass per 5 GeV/c
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Nent = 390    

Mean  =  735.3
RMS   =  198.3

Under =      0
Over  =      1

Chi2 / ndf = 118.9 / 140
 0.2662 ±Constant = 2.682 

 24.07 ±Mean     = 722.6 

 43.09 ±Sigma    = 277.2 

 Z’ 750 GeV
Nent = 390    

Mean  =  735.3
RMS   =  198.3

Under =      0
Over  =      1

Chi2 / ndf = 118.9 / 140
 0.2662 ±Constant = 2.682 

 24.07 ±Mean     = 722.6 

 43.09 ±Sigma    = 277.2 
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4�: 5�; 37 4<< 2�<< :�73= :�584 :�:74=
4�: 7�: 44 88: 3�8< :�<7: :�7<5 :�:544
4�: 7�; 48 ;:4 3�4: :�7=; :�<2: :�:5:5
4�: <�: 4; ;5: 3�2= :�78; :�<44 :�:;7;
4�: <�; 45 52: 3�23 :�724 :�<;7 :�:;8:
4�: =�: 47 55= 3�:; :�577 :�<<2 :�:;::
4�: =�; 47 723 2�=3 :�545 :�<<2 :�:;::
4�: 2:�: 47 757 2�7< :�;=: :�<<2 :�:;::
4�: 2:�: 47 <3< 2�5; :�;87 :�<<2 :�:;::
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4�; ;�; 27 338 2�3= :�543 :�8:; :�:7;7
4�; 5�: 2= 3<< 2�3; :�;<: :�8;3 :�:75<
4�; 5�; 38 445 2�72 :�7:5 :�;72 :�:758
4�; 7�: 4: 4<< 3�43 :�<;; :�728 :�:5=7
4�; 7�; 42 8;2 3�24 :�773 :�74< :�:57<
4�; <�: 43 ;:< 3�:3 :�72< :�753 :�:5;7
4�; <�; 44 ;;< 2�=; :�5<8 :�7<5 :�:544
4�; =�: 48 527 2�<7 :�587 :�<2: :�:5:5
4�; =�; 48 55: 2�7; :�5:; :�<2: :�:5:5
4�; 2:�: 48 72; 2�53 :�;;< :�<2: :�:5:5
4�; 2:�: 48 775 2�8= :�;28 :�<2: :�:5:5
8�: ;�; 24 278 :�=72 :�;88 :�42: :�:724
8�: 5�: 2; 34< :�=8; :�8=3 :�4;7 :�:74=
8�: 5�; 3: 3<5 2�8: :�542 :�875 :�:772
8�: 7�: 35 44< 3�:: :�7=3 :�52= :�:78=
8�: 7�; 37 8:2 2�<3 :�7:5 :�584 :�:74=
8�: <�: 3< 8;< 2�72 :�5;3 :�557 :�:737
8�: <�; 3= ;:< 2�55 :�52= :�5=: :�:724
8�: =�: 4: ;57 2�;= :�;<4 :�728 :�:5=7
8�: =�; 4: 52: 2�8< :�;83 :�728 :�:5=7
8�: 2:�: 4: 55; 2�4; :�8=7 :�728 :�:5=7
8�: 2:�: 4: 735 2�38 :�8;; :�728 :�:5=7
8�; ;�; < 233 :�;3; :�478 :�2=: :�:5:5
8�; 5�: 2: 2<5 :�;4< :�483 :�34< :�:5;7
8�; 5�; 2; 348 :�=53 :�;:: :�4;7 :�:74=
8�; 7�: 32 3<5 2�;8 :�57= :�;:: :�:773
8�; 7�; 33 48= 2�4= :�;=5 :�;38 :�:772
8�; <�: 34 8:5 2�4: :�;87 :�;8< :�:75<
8�; <�; 38 8;5 2�35 :�;2= :�;72 :�:758
8�; =�: 3; ;2; 2�32 :�8<< :�;=; :�:7;7
8�; =�; 3; ;;< 2�23 :�8;2 :�;=; :�:7;7
8�; 2:�: 3; 524 2�:3 :�82: :�;=; :�:7;7
8�; 2:�: 3; 578 :�=37 :�474 :�;=; :�:7;7
;�: ;�; 8 52 :�353 :�358 :�:=;3 :�:8;4
;�: 5�: 5 23; :�3<< :�347 :�284 :�:;8:
;�: 5�; 22 274 :�5== :�83; :�353 :�:57<
;�: 7�: 27 33; 2�3< :�53= :�8:; :�:7;7
;�: 7�; 2< 3<< 2�23 :�;48 :�83= :�:758
;�: <�: 2= 48; 2�:; :�8<4 :�8;3 :�:75<
;�: <�; 3: 4=; 2�:2 :�8;5 :�875 :�:772
;�: =�: 32 8;8 :�=72 :�835 :�;:: :�:773
;�: =�; 32 8=7 :�<<7 :�4<= :�;:: :�:773
;�: 2:�: 32 ;;3 :�7== :�4;: :�;:: :�:773
;�: 2:�: 32 524 :�72= :�42; :�;:: :�:773
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$22 2 2; =4:5 :�:383 :�:23; :�435 :�:5=2
$22 3 32 =<24 :�:88= :�:2=5 :�8;7 :�:748
$22 4 34 2:3=: :�:;28 :�:328 :�;:: :�:747
$22 8 3= 2:7:4 :�:7<5 :�:3=3 :�54: :�:723
$22 ; 4; 222=3 :�2:= :�:47: :�752 :�:53=
$22 5 4< 22;;3 :�23; :�:8:5 :�<35 :�:;;=
$22 7 88 22<:5 :�258 :�:8=; :�=;7 :�:4:2
$22 < 8; 23:3: :�25< :�:;:4 :�=7< :�:32;
$22 = 85 232;4 :�278 :�:;28 2�::: :�::::
$22 2: 85 23325 :�274 :�:;22 2�::: :�::::
$22 22 85 233<: :�273 :�:;:< 2�::: :�::::
$22 23 85 23443 :�273 :�:;:5 2�::: :�::::
$2: 2 2; <238 :�:377 :�:284 :�435 :�:5=2
$2: 3 32 <542 :�:;22 :�:334 :�8;7 :�:748
$2: 4 34 =2:< :�:;<2 :�:383 :�;:: :�:747
$2: 8 3= =;32 :�:<<4 :�:43< :�54: :�:723
$2: ; 4; 2::2: :�233 :�:828 :�752 :�:53=
$2: 5 4< 2:47: :�24= :�:8;3 :�<35 :�:;;=
$2: 7 88 2:538 :�2<3 :�:;;: :�=;7 :�:4:2
$2: < 8; 2:<4< :�2<7 :�:;;7 :�=7< :�:32;
$2: = 85 2:=72 :�2=4 :�:;5= 2�::: :�::::
$2: 2: 85 22:48 :�2=3 :�:;55 2�::: :�::::
$2: 22 85 22:=< :�2=2 :�:;54 2�::: :�::::
$2: 23 85 222;: :�2=: :�:;5: 2�::: :�::::
$= 2 28 7:;: :�:37< :�:28= :�4:8 :�:57<
$= 3 3: 7;;7 :�:;3= :�:347 :�84; :�:742
$= 4 33 <:48 :�:5:3 :�:3;7 :�87< :�:747
$= 8 3< <887 :�:=3< :�:4;2 :�5:= :�:73:
$= ; 48 <=45 :�23= :�:888 :�74= :�:587
$= 5 47 =3=5 :�287 :�:8<8 :�<:8 :�:;<;
$= 7 84 =;;: :�2=8 :�:;=2 :�=4; :�:458
$= < 88 =758 :�2=< :�:;=< :�=;7 :�:4:2
$= = 8; =<=7 :�3:; :�:52: :�=7< :�:32;
$= 2: 8; ==5: :�3:4 :�:5:7 :�=7< :�:32;
$= 22 8; 2::38 :�3:3 :�:5:4 :�=7< :�:32;
$= 23 8; 2::75 :�3:2 :�:5:: :�=7< :�:32;
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$< 2 28 5:55 :�:434 :�:274 :�4:8 :�:57<
$< 3 3: 5;74 :�:5:= :�:373 :�84; :�:742
$< 4 33 7:;: :�:5<7 :�:3=4 :�87< :�:747
$< 8 3< 7854 :�2:; :�:4=7 :�5:= :�:73:
$< ; 48 7=;3 :�28; :�:8== :�74= :�:587
$< 5 47 <423 :�25; :�:;83 :�<:8 :�:;<;
$< 7 84 <;55 :�325 :�:5;= :�=4; :�:458
$< < 88 <7<: :�332 :�:55; :�=;7 :�:4:2
$< = 8; <=24 :�337 :�:57< :�=7< :�:32;
$< 2: 8; <=75 :�335 :�:574 :�=7< :�:32;
$< 22 8; =:8: :�338 :�:55< :�=7< :�:32;
$< 23 8; =:=3 :�334 :�:558 :�=7< :�:32;
$7 2 24 ;:3= :�:445 :�:2<5 :�3<4 :�:558
$7 3 2= ;;45 :�:5;3 :�:3== :�824 :�:735
$7 4 32 5:24 :�:744 :�:43: :�8;7 :�:748
$7 8 37 5835 :�224 :�:847 :�;<7 :�:735
$7 ; 44 5=2; :�2;7 :�:;8= :�727 :�:558
$7 5 45 737; :�27< :�:;=8 :�7<4 :�:5:<
$7 7 83 7;3= :�348 :�:738 :�=24 :�:82;
$7 < 84 7784 :�34= :�:73= :�=4; :�:458
$7 = 88 7<75 :�385 :�:783 :�=;7 :�:4:2
$7 2: 88 7=4= :�388 :�:745 :�=;7 :�:4:2
$7 22 88 <::4 :�383 :�:74: :�=;7 :�:4:2
$7 23 88 <:;; :�38: :�:73; :�=;7 :�:4:2
$5 2 23 82=< :�:484 :�:2=< :�352 :�:587
$5 3 2< 87:; :�:5<= :�:43; :�4=2 :�:73:
$5 4 3: ;2<3 :�:773 :�:48; :�84; :�:742
$5 8 35 ;;=; :�232 :�:878 :�;5; :�:742
$5 ; 43 5:<8 :�25< :�:;=; :�5=5 :�:57<
$5 5 4; 5888 :�2=: :�:584 :�752 :�:53=
$5 7 82 55=< :�3;2 :�:7<8 :�<=2 :�:8;=
$5 < 83 5=23 :�3;; :�:7<< :�=24 :�:82;
$5 = 84 7:8; :�353 :�:<:2 :�=4; :�:458
$5 2: 84 72:< :�35: :�:7=8 :�=4; :�:458
$5 22 84 7273 :�3;< :�:7<7 :�=4; :�:458
$5 23 84 7338 :�3;5 :�:7<2 :�=4; :�:458
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$; 2 23 48;7 :�:827 :�:382 :�352 :�:587
$; 3 2< 4=58 :�:<27 :�:4<5 :�4=2 :�:73:
$; 4 3: 8882 :�:=:2 :�:8:4 :�84; :�:742
$; 8 35 8<;8 :�24= :�:;87 :�;5; :�:742
$; ; 43 ;484 :�2=3 :�:57< :�5=5 :�:57<
$; 5 4; ;7:4 :�32; :�:737 :�752 :�:53=
$; 7 82 ;=;7 :�3<3 :�:<<3 :�<=2 :�:8;=
$; < 83 5272 :�3<5 :�:<<4 :�=24 :�:82;
$; = 84 54:8 :�3=4 :�:<=; :�=4; :�:458
$; 2: 84 5457 :�3=: :�:<<5 :�=4; :�:458
$; 22 84 5842 :�3<< :�:<7< :�=4; :�:458
$; 23 84 58<4 :�3<; :�:<72 :�=4; :�:458
$8 2 22 3734 :�:888 :�:35< :�34= :�:53=
$8 3 27 434: :�:<=; :�:848 :�47: :�:723
$8 4 2= 47:7 :�:=78 :�:887 :�824 :�:735
$8 8 3; 823: :�2;3 :�:5:7 :�;84 :�:748
$8 ; 42 85:= :�3:= :�:7;: :�578 :�:5=2
$8 5 48 8=5= :�344 :�:7== :�74= :�:587
$8 7 8: ;334 :�4:5 :�:=7: :�<7: :�:8=7
$8 < 82 ;847 :�4:= :�:=57 :�<=2 :�:8;=
$8 = 83 ;;7: :�427 :�:=7< :�=24 :�:82;
$8 2: 83 ;544 :�424 :�:=57 :�=24 :�:82;
$8 22 83 ;5=7 :�42: :�:=;5 :�=24 :�:82;
$8 23 83 ;78= :�4:7 :�:=8< :�=24 :�:82;
$4 2 = 3:;= :�:4=4 :�:353 :�2=5 :�:;<;
$4 3 2; 3;55 :�:<77 :�:8;4 :�435 :�:5=2
$4 4 27 4:84 :�:=; :�:852 :�47: :�:723
$4 8 34 48;5 :�2;4 :�:54= :�;:: :�:747
$4 ; 3= 4=8; :�324 :�:7=3 :�54: :�:723
$4 5 43 84:; :�34< :�:<83 :�5=5 :�:57<
$4 7 4< 8;;= :�427 :�2:4 :�<35 :�:;;=
$4 < 4= 8774 :�42= :�2:3 :�<8< :�:;4:
$4 = 8: 8=:5 :�435 :�2:4 :�<7: :�:8=7
$4 2: 8: 8=5= :�433 :�2:3 :�<7: :�:8=7
$4 22 8: ;:44 :�42< :�2:2 :�<7: :�:8=7
$4 23 8: ;:<; :�42; :�:==5 :�<7: :�:8=7
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E��F E��F E��
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$3 2 5 288: :�:3; :�:3:8 :�24: :�:8=7
$3 3 23 2=87 :�:78 :�:837 :�352 :�:587
$3 4 28 3838 :�:<:= :�:844 :�4:8 :�:57<
$3 8 3: 3<47 :�282 :�:542 :�84; :�:742
$3 ; 35 4435 :�3:4 :�:7=< :�;5; :�:742
$3 5 3= 45<5 :�33< :�:<8< :�54: :�:723
$3 7 4; 4=8: :�422 :�2:; :�752 :�:53=
$3 < 45 82;8 :�423 :�2:8 :�7<4 :�:5:<
$3 = 47 83<7 :�42= :�2:; :�<:8 :�:;<;
$3 2: 47 84;: :�42; :�2:8 :�<:8 :�:;<;
$3 22 47 8828 :�42: :�2:3 :�<:8 :�:;<;
$3 23 47 8855 :�4:7 :�2:2 :�<:8 :�:;<;
$2 2 8 <<5 :�:2<2 :�:2<2 :�:<7 :�:82;
$2 3 2: 24=4 :�:72< :�:8;8 :�327 :�:5:<
$2 4 23 2<7: :�:77 :�:88; :�352 :�:587
$2 8 2< 33<4 :�283 :�:57: :�4=2 :�:73
$2 ; 38 3773 :�3:< :�:<8= :�;33 :�:747
$2 5 37 4243 :�344 :�:<=7 :�;<7 :�:735
$2 7 44 44<5 :�433 :�223 :�727 :�:558
$2 < 48 45:: :�432 :�22: :�74= :�:587
$2 = 4; 4744 :�43< :�222 :�752 :�:53=
$2 2: 4; 47=5 :�434 :�2:= :�752 :�:53=
$2 22 4; 4<5: :�427 :�2:7 :�752 :�:53=
$2 23 4; 4=23 :�424 :�2:5 :�752 :�:53=
: 2 3 8;; :�::<7= :�:238 :�:84; :�:4:2
: 3 < =53 :�:55; :�:872 :�278 :�:;;=
: 4 2: 284= :�:5=; :�:88 :�327 :�:5:<
: 8 25 2<;3 :�24< :�:5=3 :�48< :�:7:3
: ; 33 3482 :�3:7 :�:<<4 :�87< :�:747
: 5 3; 37:2 :�342 :�:=37 :�;84 :�:748
: 7 42 3=;; :�43; :�227 :�578 :�:5=2
: < 43 425= :�434 :�228 :�5=5 :�:57<
: = 44 44:3 :�44: :�22; :�727 :�:558
: 2: 44 445; :�438 :�224 :�727 :�:558
: 22 44 483= :�42< :�222 :�727 :�:558
: 23 44 48<2 :�424 :�2:= :�727 :�:558
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E��F E��F E��
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$22 2 2< 2;=32 :�:3:8 :�::=;= :�4<4 :�:7:=
$22 3 3; 27<28 :�:4;2 :�:28: :�;43 :�:73<
$22 4 42 2=733 :�:8<7 :�:27; :�55: :�:5=2
$22 8 4; 323=8 :�:;7; :�:2=; :�78; :�:545
$22 ; 4= 34::2 :�:552 :�:323 :�<4: :�:;8<
$22 5 82 387:8 :�:5<: :�:324 :�<73 :�:8<7
$22 7 84 3523; :�:7:< :�:325 :�=2; :�:8:7
$22 < 85 374=; :�:773 :�:33< :�=7= :�:32:
$22 = 85 3<5=< :�:747 :�:327 :�=7= :�:32:
$22 2: 85 3=<;: :�:7:= :�:3:= :�=7= :�:32:
$22 22 87 4:77: :�:72< :�:3:= 2�::: :�::::
$22 23 87 4253: :�:5== :�:3:8 2�::: :�::::
$2: 2 2< 2;282 :�:328 :�:2:2 :�4<4 :�:7:=
$2: 3 3; 27:48 :�:457 :�:287 :�;43 :�:73<
$2: 4 42 2<=83 :�:;:7 :�:2<3 :�55: :�:5=2
$2: 8 4; 3:;28 :�:;=7 :�:3:3 :�78; :�:545
$2: ; 4= 33332 :�:5<8 :�:32= :�<4: :�:;8<
$2: 5 82 34=38 :�:7:4 :�:33: :�<73 :�:8<7
$2: 7 84 3;48; :�:74: :�:334 :�=2; :�:8:7
$2: < 85 3552; :�:7=; :�:348 :�=7= :�:32:
$2: = 85 37=2< :�:7;< :�:338 :�=7= :�:32:
$2: 2: 85 3=:7: :�:73< :�:32; :�=7= :�:32:
$2: 22 87 3===: :�:747 :�:32; 2�::: :�::::
$2: 23 87 4:<8: :�:725 :�:3:= 2�::: :�::::
$= 2 2< 283;: :�:337 :�:2:7 :�4<4 :�:7:=
$= 3 3; 25284 :�:4<7 :�:2;; :�;43 :�:73<
$= 4 42 2<:;2 :�:;43 :�:2=2 :�55: :�:5=2
$= 8 4; 2=534 :�:538 :�:322 :�78; :�:545
$= ; 4= 3244: :�:724 :�:33< :�<4: :�:;8<
$= 5 82 34:44 :�:74 :�:33< :�<73 :�:8<7
$= 7 84 388;8 :�:7;5 :�:342 :�=2; :�:8:7
$= < 85 3;738 :�:<34 :�:384 :�=7= :�:32:
$= = 85 37:37 :�:7<4 :�:342 :�=7= :�:32:
$= 2: 85 3<27= :�:7;2 :�:332 :�=7= :�:32:
$= 22 87 3=:== :�:7;= :�:333 2�::: :�::::
$= 23 87 3==8= :�:74< :�:32; 2�::: :�::::
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